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Question Number : 1 Question Id : 4509386881 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The domain of the real valued function f(x) = log,logslogs(x? —5x + 11) is

f(x) = log,logslogs (x% — 5x +11) &F a0 P (D00HO Ty (HTH0

Options :

(2. o0)
1. %

(—oo, 3)



Question Number : 2 Question Id : 4509386882 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

x2+2x—15
1%
2x2+13x+15

The range of the real valued function f () =

_ 249415 3 y y __1 e
f(x) = x2 - IR 6 SNTENS |00 TN, 5
e 2x>+13x+15 - o
Options :
R { 5 3}
-
1. %
1
R — {—51_—}
2
2. ®



Question Number : 3 Question Id : 4509386883 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
1 1 1
e : 3 o : 3 PP + --- upto n terms =

1 1 1 o & _
T +E +—+ - (0 DT HOBY) =

9.13
Options :
1
in+1
1. 8
4
in+1
2. ®
n
in+1
3.
in +1
5(4n+ 1)
4, ®

Question Number : 4 Question Id : 4509386884 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



2 3 4
If 4= [1 k 2‘ 1s singular matrix, then the quadratic equation having the roots k and p
415

2 3 4
A= [1 k 2‘ 2,8 OO SPSY @on®, k HO0W % PEreNT™ ) ¢
415

TANCTOTANNY

Options :

6x>+13x+6=0
1. &

12x2 —25x 4 12=0

2. ®

6x>—13x+6=0
3. ¢

2x2 —5x +2=40
4, &

Question Number : 5 Question Id : 4509386885 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Let 4 be a 4 X 4 matrix and P be its adjoint matrix, If |P| = Ig’ then |A7Y] =
4 OO 4x4 S7@8 HO0 P OO 4 GE) BDHDOE SP(es @R,

Pl = | wawd j4|=

Options :



2. %

+2
3. %
4. e

Question Number : 6 Question Id : 4509386886 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The system x+2y+3z=44x+5y+32=53r+4y+3z=1 15 consistent and
34 =n+ 100, then n =
x+2y+3z=44x+5y+32=53x+4y+3z=1 Jansoe J)kéﬁ@ Q0f1eda)
005 34=n+100, WONB 71 =

Options:

— 42

— 86

16

— 24



Question Number : 7 Question Id : 4509386887 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The complex conjugate of (4 — 31)(2 + 3i)(1 + 4i) 1s

(4 — 31)(2 + 30)(1 + 4i) BEY D08Y Soas»ifo

Options:

T+74i
1. ®

= 4+ T
2. %

= e
3.¢

7—741
4. ®

Question Number : 8 Question Id : 4509386888 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the amplitude of (Z — 2) 1s g, then the locus of Z 1s

(Z — 2) G308 @gma;:mg 90N, Z AZN0EL OCHDGSN

Options:

x=0,y>0

1. ®



o= gy ()

2.4

i oy =2
3. %

x>0,y=
4. %

Question Number : 9 Question Id : 4509386889 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

atbw+cw? a+bm+cm2__

If w is the cube root of unity. =i - =
ctaw+tbw bt+cwtaw

_ " atbw+cw? at+bwtcw?
© OO 1 BVEY DNSNTOO 90N, i TS

ctaw+bw?  btcwtaw?

Options :

2

Question Number : 10 Question Id : 4509386890 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Roots of the equation a(b —c)x2 + b(c—a)x+ c(a—b) =0 are

a(b—c)x® +b(c —a)x +cla—Db) =0 CRO5) 2IPET°ED

Options :
a(b —c) oy
c(a—b)
1. %
b(c—a)
e — )"
2. 8
a—b
;((1 — cg A
3.4 '
cla — b;},l
b(c —a)
4, ®

Question Number : 11 Question Id : 4509386891 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If(3+i)isarootofx®?+ax+ b =0thena=

x2 +ax+b =030 2.8 0TO0 (3+1) ®ONSB q =

Options :

3

1. ®



Question Number : 12 Question Id : 4509386892 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The algebraic equation of degree 4 whose roots are the translates of the roots of the equation

45 6 +76+9=0 by —1is

G536 +Te+9=0 dgdR0 Sreren -1 & Srdd) Todmr S3)

DENIED SUFEFENT (1634 85 ehiies HBaH S&de0

Options:

¥ Ex®—3x*+6x+4=20

1. %

x4 4+ 9x3 4+ 27x2 4+ 38x+28=0
2.

x*4+5x3 4+6x24+7x4+9=0
3. &

2t —5x3 4+ 6x2—7x+9=0



Question Number : 13 Question Id : 4509386893 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the toots of the equation 4x* — 12x% + 11x+m =0 are in arithmetic progression. then m =
43 - 12x% + 11x + m = 0 C0EY DTEFEN @Oé[_%fb@é JoBym=

Options:

=

Question Number : 14 Question Id : 4509386894 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of 5 digit odd numbers greater than 40,000 that can be formed by using 3. 4. 5. 6. 7.

0 so that at least one of its digit must be repeated 1s

3,4,5. 6,7, 0 O &I0PA0D SE)EN0e 20,000 0B DI 5§ @03 B

H0DEOES L0 2,8 GOT SOV ST TS TR O

Options :
2592
1. %
240



Lad
-
L]
-2

[ B
LS
h
[ ]

Question Number : 15 Question Id : 4509386895 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The number of ways in which 3 men and 3 women can be arranged in a row of 6 seats. such that

the first and last seats must be filled by men 1s

v, o . 5 | , B oy o
3 0000 AN 3 (O, 6 L SO 2.8 SHNS, Tk HOOK DB
DB YD ST Erd)T csor, e80T Arre HoPs

Options :
720
1. %
36
2. ®
144
3. ¢
4. % 1a

Question Number : 16 Question Id : 4509386896 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If a commuttee of 10 members 1s to be formed from § men and 6 women. then the number of

different possible committees in which the men are i majority 1s

§ 006 BN SHBD 6 5HOA [NOS 10 508 H2H5e0 EORS EMER e ien
TODSO SN, YDEN 8% oS GO GO TN DG Eveser
0D

Options :

931
1. ®

175

43

h
D
L

4.

Question Number : 17 Question Id : 4509386897 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the eleventh term in the binomial expansion of (x + @) is the geometric mean of the eighth

and twelfth terms. then the greatest term 1n the expansion is
G+ af TE O GRS 11 5 HG0, 85 HOAW 1265 DB Hed
653300 SN, B9 & DA S KL e
Options:
7% term

769 530
1. %



8™ term

R T Ry
2.
o™ term
95 a)CIed))
3. &®
10™ term
Hah syt
4, %

Question Number : 18 Question Id : 4509386898 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The sum of the rational terms in the binomial expansion of (-xﬁ 431/ 5) 10 i

(V2 +315) 1° ¥y & 536 QB e9¥BeAas Hedadne) Ty Inhein

Options :

41
1.+

39
2. ®

32
3. %

30



Question Number : 19 Question Id : 4509386899 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
1 A B x+1 C D
If = and = . then
(Bxrl)(x—2) 3x+l T x—2 (3x+1)(x—-2)  3xt1 . x—2
1 A B x+1 D
— = SHBok _ = SO0,
G (x—2) 3xt1 t x—2 (3x+1)(x—2)  3x+l T x—2

Options :

A+3B =0, A:C = 1:3, B:D = 2:3

1. ®

A+38B =0, 4:€ = 3:1, B:D = 3:2
2. 8

A—=38 =8 A€ = 32, B:D= I:3
3. %

A+3B =0, A:C = 3:2, B:D = 1:3
4.

Question Number : 20 Question Id : 4509386900 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

- : ; tan Sxcos 3x |
If the period of the function f(x) o , is a, then f (E) —
sin 6x 8
- tan Sxcos3x _ g )
f ) = =———— T30 85850 a oW, f ()=
S1I1 &X

Options :



2| =

—1
2. %
1
V2
3.+
1
sx Ve

Question Number : 21 Question Id : 4509386901 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:O0

If sinx + siny = @, cosx 4+ cosy = [ then cosec(x+y) =

sinx + siny = @. cosx + cosy = f @Qb@s: @) CR cosec(x+y) =

Options :

!82_'12

2452
1. ® ﬁ -

2af

!82_[12

‘82 +U2

2ap




2af

82 +G[2

4. ®

Question Number : 22 Question Id : 4509386902 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If P+O+R =%._ then cos (g — P) +cos (g — Q) +cos (g — R)=

P+Q+R="7. @00, @3y cos (5 — P) +cos (5 — Q) +cos (5 — R)=
Options:

L Q R T
dcos—cCcos—C0s— — Cos—
2 3 s

g

tcosPeoc @i B T
LD:‘:ZCG.‘:zSHiz C058

4.P. Q R i
511125111251ﬂ2—L05 g

. P Q. R i
4sm—cos —sm— +cos —
2 2 2 8

Question Number : 23 Question Id : 4509386903 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Fora € R—{0}.ifacosx+asinx+a=2K + 1 has a solution, then K kes in the interval

a€ R—{0}8 acosx+asinx+a=2K + 1 $OA 0T, K 0% 906350

Options :

[n — SRl 1% -v'fa.]

2 2
1. &
g+ 1—+2 a1442
2 ’ 2
2. %
g1 =F w—1 2
2 ’ 2
3. %
L : : A2 :
(V2a2+2a+1+1) (V2a2+2a+1-1)
2 ’ 2
4. %

Question Number : 24 Question Id : 4509386904 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the general solution set of sinx+3sin3x+sin5x =0 isS. then{sina /a € §} =

sinx +3sin3x+sin5x =0 0005} O T DD § WOV, {sina /a € S} =

Options :

{1,—1,0}



S g 1}
{2.!2!!!_

2. ®

V3 /3

T g

2%t 3
3.v

g g I o 90

y T L ¥ e 2
4, ®

Question Number : 25 Question Id : 4509386905 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If & 1is an acute angle. cosh x = K and sinh x = tan@, then sinf =

g 2,5 ©0 56230, cosh x = K oHOCK sinh x = tan § GO0, sin § =

Options:
K
- K241
1. 8
K*+1
, x KE+2
VE? —1
3.v K



VK?Z —1

VEZ 51

Question Number : 26 Question Id : 4509386906 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In a triangle. 1f the angles are in the ratio 3:2:1, then the ratio of its sides is

2.8 (82020 Q Feren 3:2:1 AANBS GO, Q) 2HBS0O AN )S

Options :

125
1. %

2:v3:1
2.9

3:4/2:1
3. ®

1:1/3:3
4, &%

Question Number : 27 Question Id : 4509386907 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In a triangle ABC. if BC = 5, CA=6. AB =7, then the length of the median drawn from B onto
ACns

2,8 929350 ABC ¢ BC = 5, CA =6, AB = 7 ®008, B oG AC DG H
N0 8o

Options :

Question Number : 28 Question Id : 4509386908 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In AABC, it AB.BC.CA=6:4:5. thenR :r=

AABC & AB:BC:CA=6:4:5 @ONS, R :1=

Options :
16:9
1. %
16:7



1225

Question Number : 29 Question Id : 4509386909 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

a=ui+pj+ 3k. b= jt 2k, ©=3i 425 + k are linearly dependent vectors and magnitude of @ is

V14.1f a. B are integers then a +§ =

a=ai+j+3k, b=j4+2k, c=3i+2j + ko0 0D eBSdOden HBA T G,

D030 V14, . BN 2J°Q DODOIONS ¢ +f =

Options :
1.+ :

=
2. &

3
3.8

—3
4, ®

Question Number : 30 Question Id : 4509386910 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



¢ is a vector along the bisector of the internal angle between the vectors d=4i+7j — 4k and

b=121 - 3j+ 4k If the magnitude of  is 3v13 then ¢ =
¢ OO d=4+7] - 4k b=121-3j+ 4k AOIO N3ie) OIS DS DOCER
02 3028 o) 2,8 A0, ¢ ThE), 8760 3113 BONB ¢ =

Options :

5i —8j+2v2 k

1. ®%

10i+4j — k
2.

i—10j+4k
3. %

2v/2i+5/ — 8k
4, &

Question Number : 31 Question Id : 4509386911 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

B=i—]4 k.b=2i +i+ k ate two vectors and Cis a unit vector lying in the plane of @ and

b. If ¢ is perpendicular to b then ¢, (EH—F ZR) =
=i-j+kb=2i+]+k o0 Bocdh ST HO0W ¢ &R @ HBA be) 0
§ 8 NG, b5 TR0 GO0 ¢ (i+i+2k) =

=]

-
P
e

i
[ 8
Options:

0
1. ®
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Question Number : 32 Question Id : 4509386912 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A(1.2.1).B(2.3.2).C(3. 1. 3) and D (2. 1. 3) are the vertices of a tetrahedron. If 0 is the angle

between the faces ABC and ABD then cos =

A(L2.1).B(2.3.2).C(3.1.3) B0 D (2. 1. 3) &0 &8 e D) G 3. ABC

20005 ABD s05r®) a¢35 5690 €900 cos 0=

Options:

<
I-*l &y
o

o
3 =
=
m‘m



Question Number : 33 Question Id : 4509386913 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
fa=i—jtk b=1+]-2k t=21-3j—k d =2i+] +k are four vectors then
(@xc) x (bxd) =
a=1—jtk b=i+]-2k c=21-3j-k d=2i+] + ken Tenth dHFen @ond
(@xc) x (bxd) =

Options :

21 419§ — 11k

—8i +19j — 29k

21 +j — 11k

—81+j — 29k

Question Number : 34 Question Id : 4509386914 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Mean deviation about the mean for the following data 15

(lass Interval 0-6 6-12 12-18 18-24 24-30

Frequency 1 2 3 2 1

1806 0708 @90% D500 O D5 VOO

e5¢5(1es @0e5H0 0-6 | 6-12 | 12-18 18-24 | 24-30

2o 50 1 2 3 2 1

Options:

Question Number : 35 Question Id : 4509386915 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If 12 dice are thrown at a time, then the probability that a multiple of 3 does not appear on any

dice 13

12 2% &0 BBONSD, o NS e 3 Bk, Hedzo EN0E

FTNONH D02Tsed

Options :



1. ®
i
3
2. &
(2)12
3
3.
(5)12
6
4. ®

Question Number : 36 Question Id : 4509386916 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If a number s drawn at random from the set {1,3,5,7, ..., 59}, then the probability that it lies in
the interval in which the function f(x) = x® — 16x% + 20x — 5 is strictly decreasing, is
{1,3,5,7, .., 59} ades D0 Oires )50 2.8 o 37, 8 D0
Fx) = 2 — 1632 + 20x = 5 (N0 HE 5T TR0 G0T ©0SE0S

GOCErAS N02TI5e
Options :

1

| =



2| =

4.

Question Number : 37 Question Id : 4509386917 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In a class consisting of 40 boys and 30 guls. 30% of the boys and 40% of the girls are good at

Mathematics. If a student selected at random from that class is found to be a gul, then the

probability that she is not good at Mathematics is

10 508 2rend) SHO0 30 HH06 ¥y EORS 2.8 BEIBS'A 2rendsS 30%
500 O30S 40% AddoS Hamen. & SE1 Hok drdydgorr
0TS sl 2.8 2rO8 9 BOW, B (S0 (HNENTED SEFSEE
NOARNITG
Options :
-

1.

] e



Question Number : 38 Question Id : 4509386918 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A basket contains 12 apples in which 3 are rotten. If 3 apples are drawn at random simultaneously

from it, then the probability of getting atmost one rotten apple 1s

28 WS &) 12 8IS H0GS 3 Dy Gy, T Mod 2,370 3 8O

W

HPac O80T SRS, 5D 8DS H0d Hows 25638 MosoF

&OCErRS (0 S0ZFd5ed

Options :
34
1. 9O
48
55
2.«
21
5h
3. %
42
55
4. ®

Question Number : 39 Question Id : 4509386919 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

7 coins are tossed simultaneously and the number of heads turned vp 1s denoted by the random

2
: : i ; : G
variable X. If 11 1s the mean and o~ s the variance of X, then =

P(%=3)
T TBHOD KsooS HHETh SO0 SAIS B0 Hows AFSHD

DOTF X &) AFAN0E. X BE) 080300 1 B0 duye o N s,

B
P(X=3)
Options:
56
5
1. ®
84
5
2. ®
112
3.+
224
-]
4. ®

Question Number : 40 Question Id : 4509386920 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A manufacturing company noticed that 1% of its products are defective. If a dealer orders for 300

items from this company. then the probability that the number of defective items 1s atmost one 1s
28 SO N0, R By &HIBS 1% SNehen SR LR &)
HBOD0B. 2.8 HUBE & 505 H0B 300 SHOT D DAEB, 52rA) EORS

DO D0 2,580 MOVROE GRS fie) doaraeh

Options :
3
T
1.2 ¢
2
e?
2. ®
3
&2
3. %
4
=]
4.9 €

Question Number : 41 Question Id : 4509386921 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



P is a variable point such that the distance of P from A (4.0) 1s twice the distance of P from
B (—4.0). If the line 3y — 3x — 20 = 0 mntersects the locus of P at the pomnts C and D. then the

distance between C and D 13

P &9 28 VG0N, AG.0) OGP & o) (80 B(—4,0) oG P § e (008
GOCOBRID T G508, 3y — 3x — 20 = 0 ©F SEB P BBy Doch HTR)
D Dothay® 56 BOBW, 89316 €, D © HS3rE0

Options :

3.4

w |

Question Number : 42 Question Id : 4509386922 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When the origin is shifted to (f, k) by translation of axes. the transformed equation of

x4+ 2x + 2y — 7 = 0 does not contain x term and constant term. Then (2h + k) =

570 D08 IPOBE €98 3B T 5T (h, k) § 26O BRI

W2+ 20+ 2y =7 =0 DEE0 BE) Erarodd SEGE0 ) 8ok B¢
DT, SO G0y, @) (2h + k) =



Options:

4

2
1. %

1

&
2. %

2
3.4

0
4. %

Question Number : 43 Question Id : 4509386923 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Let aeR. If the line (@ + 1)x + ay + @ = 1 passes through a fixed point (h, k) for all @. then
Wtk =
2eR SDHOTW. (@ + Dy + ay + a = 1 83 AOFTD ) « O 2,8 VY

DO (b k) (HOT VB, @3¢ h? + k2 =

Options :



e

Question Number : 44 Question Id : 4509386924 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If (@, ) is the orthocentre of the triangle with the vertices (2,2), (5,1), (4,4), thena + f =

(2,2),(5,1), (44) 3T o) (B32920 TE ©0ZOIB (a, B) HONS, 9530

atf=

Options:
6
1.«
3]
2. %
5
2
3. %
vi
2
4. ®

Question Number : 45 Question Id : 4509386925 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The area of the triangle formed by the lines represented by 3x + y + 15 = 0 and
3x2 +12xy - 13y = 01is

3x+y+15= 000050 3% + 12xy — 13y2 = 0 SESETeN Irdoth DS
23)Ch |82 ITO50

Options:

1.+ -

Question Number : 46 Question Id : 4509386926 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If all chords of the curve 2x* — y* + 3x + 2y = 0. which subtend a right angle at the origin
always passing through the point (e, £), then (a, f) =

Options :

0)06) 2200 O IET (a, f) Dos) HOT Fesr G0, ©a) )¢ (o, ) =



Question Number : 47 Question Id : 4509386927 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

2x —3y+ 1=0and 4x — 5y — 1 = 0 are the equations of two diameters of the circle

S=xt+y 4+ 200+ 2fy—11=0. Q and R are the points of confact of the tangents drawn

from the point P(—2,—2) to this circle. If C is the centre of the circle S = 0. then the area (in

square units) of the quadrilateral PQCR is
2x=3y+1=0 0000 4x—5y-1=0 0 S=x? +y2+ 2gx + 2fy - 11 =0 920
T, BO e ADEGEre). & SYTRS P(=2,-2) Doy od A
D)0:026 )6D0HE0 0 HOOW R. D980 $=10 EE So1K0 € “S,
PQCR 56050230 BE), 3F050 (5. BrdLS )

Options :



Question Number : 48 Question Id : 4509386928 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
If the mverse point of the point (=1, 1) with respect to the circle x* + y? —2x + 2y -1 =01s

(p,q). then p2 + qz =

@JQD@?‘ pz + (;2 =

Options :
1
16
1. #®
1
2.« 8
1
-+
3.8
1
2
4. &

Question Number : 49 Question Id : 4509386929 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If (a,b) is the midpoint of the chord 2x — y +3 = 0 of the circle x* + v2 + 6x — 4y + 4 =0,

then 2a + 3b =

2y 4 6x — 4y + 4= 0 9980 OIF 205 2x — y +3 = 0 CAWEY N300 (a,b)

oS, 2a 4 3b =

Options :

=

Question Number : 50 Question Id : 4509386930 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If a direct common tangent drawn to the circles 2% + y> —6x + 4y + 9 =0 and
x2 4 y2 + 20— 2y + 1 = 0 touches the circles at 4 and B. then AB =
EyE—6x 4y +9=0 OO 4y 42 -2y+1=0 STOH HDS a8

638 &8 160D & SYFOD A DO B DO 3¢ 393, AB =

Options:

1. ® 7



2. ®
e
3 % 46
Zw’E

4, &

Question Number : 51 Question Id : 4509386931 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The radins of the circle which cuts the circles x? + y2 —4x — 4y +7 =0,

yi+y?P+dr—4y+6=0andx? +y* +4x+4y+5=0 orthogonally is

Xty —dx—dy+7=02" +y +dr -4y +6 = 00000 x® +yE +4x +4y +5=0

SITON HOVDIGN0 DD D0 TwEy F5ardo

Options :

v193

442




Question Number : 52 Question Id : 4509386932 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The equation of the normal drawn to the parabola y? = 6x at the point (24, 12) is

al

v? = 6x DUHOOTIE, (24,12) £y S& A @der02 T debéseao

Options :

3x—y =00
1. ®

4x +y = 108
2.

2x +y =60
3. &8

i Zyri)
4. &

Question Number : 53 Question Id : 4509386933 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If Ay, 4,,A; are the areas of ellipse x* +4y* —4 =0, its director circle and auxiliary circle
respectively, then 4, + 4, — 4, =

Ay, Ay, Az 00 SONT 1% 4497 — 4 = 0 OEHYDT, T AoDE 3yBer HON
DFODE 9T ITESTS, 4, + 43 - 4y =

Options :

11m

Question Number : 54 Question Id : 4509386934 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The equation of the pair of asymptotes of the hyperbola 4x? — 9y% — 24x — 36y — 36 = 0 13
4x2 — 92 — 24x — 36y — 36 = 0 WSITHOANO BE) ©J0eh O)) Dratuifo

3B0E) HaddBe0

Options :
2x? —xy —3y* —14x—9y—12=0

1. %

2% —xy—3y? —2x+3y=0
2. ®



2x% — 5xy + 3y? — 22x+ 27y + 60 =0

4x? —9y? — 24x — 36y =0
4, &

Question Number : 55 Question Id : 4509386935 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The equation of one of the tangents drawn from the point (0, 1) to the hyperbola
45x2 —4y* =51is
(0,1) Dochs 0d 4552 - 4% = 5 @BITHOOTSE FDS 9160208 2.5
Dan§deao

Options :

4y +5=0

3x+4y—4=0

2. 8

hr=by+hH=10
3. ®

9 —2y+2=0
4.

Question Number : 56 Question Id : 4509386936 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Consider the tetrahedron with the vertices A(3,2,4), B(xy,v,,0), C(x5,5,0), D(x3,¥5,0). If
the triangle BCD 15 formed by the lines y =x, x+y =6 and y = 1. then the centroid of the

tetrahedron 1s
A(3,2,4),B(xy, ¥, 0), €l 15,0), D3, v5,0) FTONT €ed) 905D ex0800070.
y=1,x+y= 660000 y= 10203 |82H50 BCD 810, etdehtg) Tug)
5016 2790

Options :

(3.2.1)

Question Number : 57 Question Id : 4509386937 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If P (2,6, a) lies on the plane x + 2y —z—2 = 0 and Q (@, —1, £) lies on the plane

2x —y + 3z 4 6 = 0 then the direction cosines of the line PQ are

P(2,B,a) ®RIO x+ 2y —z—2 =000 Do) HOOM 0 (a,—1,8) 9RO

2x —y+3z+ 6 = 0003 DoHRS, PQ T Gws) B FRhen



Options:

Question Number : 58 Question Id : 4509386938 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let 1 be the plane that passes through the point (—2, 1, —1) and parallel to the plane

2x —y + 2z = 0. Then the foot of perpendicular drawn from the point (1,2,1) to the plane 7

is

T &8 &0 (=2,1,-1) Doe) MO ST 2x — y + 22 = 0 BerQ8 JFoSIOmT

&OEDOGR BhH0T0. @I (1,2,1) Doy Hod 1 Serdd A

OO0

Options :

(—3,—1,1)
1. %



E

(—3,3,—-1)
3. %

(—1,3,-1)
4.

Question Number : 59 Question Id : 4509386939 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

, B 5x.casecf_ﬁ’§_]—1 : o
B flx) = (x—2)cosec(vx)’ e il_lif{‘t b=

Sx.cosec (-\.E)— 1
(x—2)cosec(Vx)

flx)=

O, lim Flxt)=
X—00

Options:
1. % 1
2. ® -
5
3.¢
—5
4. &

Question Number : 60 Question Id : 4509386940 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

V14 4x —+/3+ 3x

lim

x—332 _1’3 —8
Options :
72
1.
1
2 % 36
1
24
3. %
1
4 % 12

Question Number : 61 Question Id : 4509386941 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

(V2aF1+y2x—1) +(VZxF1-V2x—1) (Px*-16)

If lim = = — 1,then P=
X500 (x+vx2-2) +(x—Vx2-2)
a g
. (V2x+1+42x-1) +(V2x+1—2x—-1) (Px*-16
lim ( ) - JE ' e 1 ®one, P=
x—00 (x+Vx2=2) +(x—Vx7-2)
Options:
16



64

2. %
1
3.% 64
1
16
4.

Question Number : 62 Question Id : 4509386942 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The rate of change of x%* with respect to (sin x)”* is

(sinx)”* 5ol s x5%% AR08 P @1AY)
£
Options :

i sinx
L (— + cos x. log 1)
X

(sin x)*(x.cotx + log sin x)
1.+

(sin x)*(x cot x + log sin x)

. sinx
x X ( —— T cosx. log .rc)
2. 8
sin x
y + cos x.log x
X
3. %8



(sin x)*(x cotx + log sin x)

Question Number : 63 Question Id : 4509386943 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

ax+
Iy = ZHE then 2y Vg =
: yx+8 s

ax+f3 <
s . 00063, 2'}}1'\"3 —
yx+4 =Ee
Options:
2}’23
1. %
3y, 2
2. o Tk
}'22
3. %
3y.2
4.% 0

Question Number : 64 Question Id : 4509386944 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which one of the following 1s false?

% (808 S DA 056555507

Options :



d
—[Sec ™ (cosh x)] = sech x
dx

1. ®
d |

T[fﬂs_i{_SELTh x)] = sech x
, e W

F[Tmz_l(_sinh x)] = sech x
3. ® *

d X

a [T{Iﬂ_l (mﬂ. E)] = BEE K
4.

Question Number : 65 Question Id : 4509386945 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Jy +1=23at the point (1. 0) is

D0t (1, 0) 5D 500 xte? +2,/y + 1 =3 55 A 06,09 2 &0 Hochsy

The point which lies on the tangent drawn to the curve x*e¥ + 2.

Options :

(2. 6)
1. %

(21 _GJ
2. %

(—2,—6)



Question Number : 66 Question Id : 4509386946 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If f(x) = x*, then the interval in which f{x) decreases is

F(x) = x* OB, fix) 58570 95590550

Options :
1
[o2]
€
1.+
[0, e]
2. ®
[ 1
—, 00
3. 8 =
e
4w [0,e°]

Question Number : 67 Question Id : 4509386947 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the Rolle’s theorem is applicable for the function f{x) defined by f(x) = x* + Px - 12 on

[0. 1], then the value of C of the Rolle’s theorem 1s
() =23 4 Px—12 T AB300028S (DDAFRE [0, 1] @080 58 grodo
09 0I0N0D0 NS, BB AT0SINNFH H020H0D € L) Dend

Options:

1
% et
V3

<.
WI| =

| #

i-'-:-\_
(%]

Question Number : 68 Question Id : 4509386948 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1-tan’x

1+tan’x

The number of all the values of x for which the function f (x) =sinx + attains its

maximum value on [0, 21] is

1-tan’x g . )
—= (o (105 densd FodEdS fier v

1+ta

[0,27] D, f(x) = sinx +
), AL MODS

Options :



1. ®
1
2. B
.
3.4 ©
infinite
4w 90650

Question Number : 69 Question Id : 4509386949 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Ifxeg {2 nmw — g, 2nm + %] andn € Z. then [ V1 —sin2x dx =

Ifxe {Zm'f —g, 2nm + %r] 800 n € Z @on®, [V1—sin2x dx =

Options :

—cosx+sinx +¢

1. ®
cosx +sinx+c¢
2.
—cos X —sinx +c¢
3. %

cosx —sinx+rc



Question Number : 70 Question Id : 4509386950 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

" x+ 2 %
J e* ( i 4) e b
X

Options :
xe” N
(x+472 " °
1. %
xe* 4
(x + 4)
2. ®
xe”* "
x+4) ©
3.«
2xe*
TEWEY L
4, %

Question Number : 71 Question Id : 4509386951 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Y

Y 1-cosx

dx = tan G +8 ) 4 ¢, then one of the values of 2—'1 — [ is

[——dx =tan G+ ﬁ) + ¢ ©QNS, ”Tf— B 8 50 DeNIOS 2.8 e

1-cosx

Options :

1.



.
T
2.
0
3. %
m
4. % 4

Question Number : 72 Question Id : 4509386952 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

3 1
IfFZQLde—n:-!—logb.theun—b—
V. 1 . o
729 1md.l = ﬂ+lUg£’J @ngqﬂ b=

Options :

v ¢

4

2.8 5

4
3.% O
—4



Question Number : 73 Question Id : 4509386953 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

ii s

If n = 2 1s a natural number and 0 < 8 < & then

[ (cos™8 — cﬂsﬂjlf’n

sinf df =
cos™t1g
n= 22835 o HOAM 0 < 6 < g EHONED,

sinf df =

cosntig

f (cos™8 — cﬂsﬂjlf’“

Options:
n s 3
— (cos1 ™™g — 112 + ¢
1%
n 1
: . _(cosMg — 1)
mrDa—n ) nte
2. ®
. (cos™ 19 —1)2 + ¢
3 x B 1
1_”?12 (L= Cos{l—n']ﬂ:}ﬁﬁl};"n
4.

Question Number : 74 Question Id : 4509386954 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

1774 27 a7

21_1}1{}] n’e -
Options:
. T
1. %
2. ® 1
76
3. %
1
78
4.«

Question Number : 75 Question Id : 4509386955 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
AL
o ?—H P el | 2
If . flx) =% v then [, f(x) dx =
x2+1 , 1=x<2
6x2+1 5
. _m . O e 1 w__-as 2 e o
Tl = 00E3, fn FE)i=
241, 1=x<2
Options :
11 3—|—10
il



1 10
~=log3———
2 3

e
T il

1L, 20
g BT g

Question Number : 76 Question Id : 4509386956 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If fln[x] dx = 120. thenn =

fln[-i'} dx =120 @Ck‘ﬂ@._ p==

Options:

q
1 % 1A



Question Number : 77 Question Id : 4509386957 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The area of the region under the curve y = [sinx — cosx|,0 < x 5 and above x-axis. 15 (in

square unifs)

v = |sinx — cosx|,0 < x _g J(80 1506 DO -850 G (2P0 STOL0

o

(6585 BrdLS)

Options :
- 242

2 =g
2. %

2(v2-1)
3.«

2(vV2 +1
4w (*» + )

Question Number : 78 Question Id : 4509386958 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The differential equation formed by eliminating ¢ and b from the equation y = ae® + bxe® is
y = ae® + bre® D860 S 0,5 OF HTMHOD FOA0DNS BT @580
eDEBEI

Options :



y'—4y'—4y =10

1. %

}IH £ 4}11 . 41], -0
2. %

y”’ + 4}]_]" + 4:'}? o 0
3. %

}r” =1 .:1._11" -+ 411 —
4.v

Question Number : 79 Question Id : 4509386959 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

; 2 7 i ; 3 ; '
If v = a®e”**¢ is the general solution of a differential equation, where a and ¢ are arbitrary

constants and b 15 a fixed constant. then the order of differential equation 15

g DB ¢ e ATSYNYE Vorosen OO b OO V8 VTroso e
200D y = ade? ¢ 9TH 28 B3OS HeDE80 Ty o TSN

QONE & @980 danE8Ea0 B0y HOTE0

Options :
1
1.+
2
2. %

L]

3. ®



Question Number : 80 Question Id : 4509386960 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The solution of differential equation (x + 2y?) % =y 1s
(x+ 2v3)— =y O @380 JDESTIE ¢SS
Options :
x = yv(2xy + ¢)
1. %
e e -
x=y(y" +e)
2.
y=x(x*+c)
3. %
y*
Y ===
o 2
4. %
Physics
SectionId : 450938148
Section Number : 2
Mandatory or Optional : Mandatory

Number of Questions : 40



Section Marks : 40

Enable Mark as Answered Mark for Review and

Clear Response : Yes

Maximum Instruction Time :

Rull

Is Section Default? :

Question Number : 81 Question Id : 4509386961 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The time period of revolution of a satellite (T) around the earth depends on the radius of the circular

otbit (R). mass of the earth (M) and universal gravitational constant (G). The expression for T, using

dimensional analysis 1s (K 1s constant of proportionality)

2,8 ge|ffara 27 LOET BEMHE HE 0 (T) 9SG, 2700 | 33503 (M)
D35 Hes VT08W (6) HOM SHTFY §85 ALy T (R) DS
STPEHGS, DA DI T5T EDTSAS T T SDEBem K Soare

VTr0%0)
Options :
R2
K |—
GM
1. %8
i@ R
GM
2. &
RS
K |—
GM



GM?

Question Number : 82 Question Id : 4509386962 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An obyject projected upwards from the foot of a tower. The object crosses the top of the tower twice
with an interval of 8 s and the object reaches foot after 16 s. The height of the tower s
[g =10 ms™?]
28 0 8D 2P0 oG 28 SR VLAY D8 AT H. 96 IO
DT, 8 VSN AT0S Tohrth 3 9396 echih 2Ry, 16 DIVS TS,

8 690 0 [g = 10ms™?]
Options :

220 m

1. ®

240 m

640 m

80 m
W

Question Number : 83 Question Id : 4509386963 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The centripetal acceleration of a particle in uniform circular motion is 18 ms™2. If the radius of the

circular path 1s 50 cm, the change in velocity of the particle in a time of % Sis
DEBB S9TE DOS0ES tred) 2.8 §8a0 B, 8T ¢ 58690 18 ms 2 SYTTE

5740 G875 G0 50 em QN T 5 TOILIBS $890 G SR Srth)

Options:

Question Number : 84 Question Id : 4509386964 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The horizontal range of a projectile projected at an angle of 45° with the horizontal 1s 50 m. The

height of the projectile when its horizontal displacement 1s 20 m 15

§ oz arodTas 45°580 Do) (HER0 Tohads 28 |NSa80 Sax

e Y

v -

T0eE a59) 50 m. (3 D80 5,092 Neiroedd F(25040 20 m 3¢ T ¢
Options :

18 m
1. &



36 m

3 12 m

4 % 24m

Question Number : 85 Question Id : 4509386965 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Abody of mass 1.5 kg is moving towards south with a uniform velocity of 8 ms ™. A force of 6 N
is applied to the body towards east. The displacement of the body 3 seconds after the application

of the force 15

10555073 15 kg (16 2.8 29es) 8 ms ™! D80S o 9§ 20 FayBo SN B. &8
S0 6N e drdd) IS (DBFRomrd. 2er0) (HEFA0DS 35 Sare,
380 | Bodo

Options:

24 m
1. %

30 m
2. v

18 m

42 m



Question Number : 86 Question Id : 4509386966 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1

th
The upper (;) of an mclined plane 15 smooth and the remaming lower part s rough with

coeffictent of friction . If a body starting from rest at the top of the nclined plane will again

come to rest at the bottom of the plane. then the angle of inclination of the inclined plane 1s

28 70 6020 G o) (=) o 23110 drkosy e, NDR i 270 by ey

¢509) 8. 15080 2750 T8}, (1838 4080 HEEO py. aTe B0 3 DHOD 2,8 eDa)ed
DT DB H0B SBOS b aren de0 (§oHE DIN0E BBN o VA I,
TS0 C0E) T 50

Options:

Sin~! [(n i 1) pk]

1. ®

a5
2. % !

Tan™ [(n. i 1) “""’]
3. &%



Question Number : 87 Question Id : 4509386967 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A spring of spring constant 200 Nm™ is initially stretched by 10 cm from the wnstretched position,

The work to be done to stretch the spring further by another 10 cm is

200 Nm (200 RT7030 ey 2.8 (200 & Sened FHH0HA TS0 D0 10 cm
AT, (2000 & @SS0M T 10 cm AFHOONEIS TODHOVS N

Options :

L

1.

Question Number : 88 Question Id : 4509386968 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A ball falls freely from rest from a height of 6.25 m on to a hard herizontal surface. If the ball

reaches a height of 81 cm after second bounce from the surface. the coefficient of restitution 1s

2,8 208 QTN VS DO DI 6.25m D) 0GB 2.8 G § B2 Meroe

$00 28 DDA, B0 HOG Tocka) w70 28 DA Bared 208 TOS €Y

81 cm AN, (eI (Heaso



Options:

0.3
1. ®

0.45
2. ®
3 % 0.75
4. & L

Question Number : 89 Question Id : 4509386969 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The masses of a solid cylinder and a hollow cylinder are 3.2 kg and 1.6 kg respectively. Both the
solid cylinder and hollow cylinder start from rest from the top of an imnclined plane and roll down
without slipping, If both the cylinders have equal radius and the acceleration of the solid cylinder

is 4 ms ™2, the acceleration of the hollow cylinder is

2,8 00 0 DO 28 S 0 TE) (B507Hen SEM 32 kg HBAM
1.6 kg. 500 e0%0 DB Ben A0 TOP 28 Ten 003 DTN Ve Hod
808, ZdSom GO, Bot araren 23 drTR) $O8 ok o

S0 B0 ¢ 85890 4 ms™2 B0 BN NI € 5580

Options:

2 ms ™2
1. &

9 ms™?



6 ms ™2

3. #

3 ms

Question Number : 90 Question Id : 4509386970 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Asolid sphere of mass 50 kg and radius 20 cm is rotating about its diameter with an angular velocity

of 420 tpm. The angular momentum of the sphere 15
163635078 50 kg SO0 50 20 em 10 28 $ded %0 TR 500 DGO 420 pm

st Friod 125690 Tohehed) &. o G308 SEa%H |50

Options :

8.8 Js

70.4 Js

17.6Js

LS
h
]
_y
W gl

Question Number : 91 Question Id : 4509386971 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
- W ' i P . = " ' ' ' . Tr
The mass of a particle 1s 1 kg and it is moving along x—axis. The pertod of its oscillation 1s = Its

potential energy at a displacement of 0.2 m 1s

2,5 5800 Q308 (0035077 1kg oDB0M) ©8 -850 F02R O0NNN)D. 8 8890
%) Bomrsds 200 g @aNd 02 m P'N|28040 O R § e 48

Options:

0.24]
1. %

0.48]

0.32]
3. v

0.16 ]

Question Number : 92 Question Id : 4509386972 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The potential energy of a particle of mass 10 g as a function of displacement x is (50 x% + 100)].

The frequency of oscillation is
25040 x NOHOTE 10 g (93073 6 2,8 §ea0 GBEL V& 98 (5012 + 100))
OB GO s Yed:0.

Options :



5
== S_l
T
2. ®
100
S_l
T
3. %
50
f— S_I
i
4.

Question Number : 93 Question Id : 4509386973 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the time period of revolution of a satellite 1s T, then 1ts kinetic energy 1s proportional to

2,8 G| Har0 HB|250e FOO T, 9aNE ) (182 45 9D S ridardoe o0

Options :

T—l
1. #®

T2
2. ®

T—E



T-2/3

Question Number : 94 Question Id : 4509386974 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The elastic energy stored per unit volume in terms of longitudinal strain "¢’ and Young's modulus
Y is
D508 DNNGATENNN A Gr) VST, 9T e ¢ DO

0%0f (0680 'Y HresS

Options:
Ye?
1.+ 2
1
—Ye
2
2. ®
2Ye?
3. %
2Ye
4, %

Question Number : 95 Question Id : 4509386975 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A large tank filled with water to a height ‘h’ 1s to be emptied through a small hole at the bottom,

The ratio of the time taken for the level to fall from *h" to E and that taken for the level to fall from

fh! ‘
—to‘0’1s
2

B D) 558 ABS 0N 2.8 DG STD, TR adhibardo SO de .8 D)

W o 'h' o
B0l0 TITr 9 BohSOR G0, ABHR0 B A Dok 3 D)

GBSO 939 T8 B0 ABLE0 % 8) 506 0 £ DB DS

erRd g e

Options :

V2-1
1. ¢

1

V2
2. %

V2
3. %

1

V2 -1

4, ®

Question Number : 96 Question Id : 4509386976 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



A slab consists of two identical plates of copper and brass. The free face of the brass is at 0°C and
that of copper at 100 °C. If the thermal conductivities of brass and copper are m the ratio 1:4. then

the temperature of interface is

2,8 O T B0 9SAS o Both A8 N Do OR God. s
GR0E) WLT)00 0°C G HBAM TH VT )NDO 100°C 3¢ 83e). DG
B0 TR Galarieser 100 14 ASS ), & Boch HOE D5 e Gt
DTH0 Oy erel|fied

Options:

20° C
1. ®

40° C
60° C

80° C
4.+

Question Number : 97 Question Id : 4509386977 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A monoatomic gas of n-moles 1s heated from temperature T; to T, under two difterent conditions.

(1) at constant volume and (1) at constant pressure, The change i mternal energy of the gas 15
IO 0D n’ (1 MEDVITFENTOWID () VO IGO0 HBAY (i)
S0 ©F Toth I05% H0VHOS T, Hod T, XS IETIS, ©
FON0) ©OS6E 355D 1)



Options:

More when heated at constant volume

DS QNDBATI0 9D BB TOIICHD B0

1. ®
More when heated at constant pressure
26 9550 B3 DA TRIHE Doy
2. &
Same m both the cases
BOCD HBVEAES &I ST
3.4
Zero 1n both the cases
\ B0 DBV I3 32550
%

Question Number : 98 Question Id : 4509386978 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In a Carnot engine, when the temperatures are T, = 0°C and T; = 200°C. its efficiency is 7, and

when the temperatures are Ty = 0°C and T, = —200°C. its efficiency is 1,. Then the value of :;—1
18

Gifiiiden T, = 0°C OO T, = 200°C HS))eh 28 8 Ga A0SO T,
(5% 6 ny: G feben T, = 0°C SO0 T, = —200°C Y a)ch ) (8 17, AN

B
2

Options :

1.



0.58

0.73
2. ®

0.64
3. ®

0.42
4. ®

Question Number : 99 Question Id : 4509386979 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Heat energy absorbed by a system going through the cyclic process shown in the figure is
HE0E AP DG 50D (HEHK 2.8 5596 HBT W, 68 1620 TeHD
€} 48

Y-axis

Options :

1077 ]
1. %



1041 |

2. ®

10%x ]
3.«

15 §
4, ®

Question Number : 100 Question Id : 4509386980 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A poly atomic gas with n degrees of freedom has a mean kinetic energy per molecule given by
(if N 1s Avogadro’s number)

n 50(¢h HBMWEN Ko VTVNGXTES TORN) DNHOS 28 eEnsH8 Sifew

fiezds (V - @5 E Sog)

Options :

nKT
N

nKT
2N

nKT




Question Number : 101 Question Id : 4509386981 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A car sounding a horn of frequency 1000 Hz passes a stationary observer. The ratio of frequencies

of the horn noted by the observer before and after passing of the car 1s 11: 9. The speed of car is

(Speed of sound v = 340 ms™)

2,8 520 1000 T3], © :eheds0 & wFES [FPANT, D00 ffe) 2.8 DO
T3 39,00, 58 005 HEAS 0 HBAD TS Bhared ©sds
DINGS G5 Ty e A 11:9. wd, S 0 ok

(52 S0 v =340 ms™)

Options :

34 ms!

1.+

17 ms’

170 ms™!

340 ms’!



Question Number : 102 Question Id : 4509386982 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A ray of light travels from an optically denser to rarer medium. The critical angle for the two media

15 ‘C’. The maximum possible deviation of the ray will be

2.8 508 85850 2.8 BT To[BBE Oirdian Db 28 AEFSY ArSE0e V8
D0IrE0 TY0O. (S0TSE Hob] 580 ¢, N & 06§86 &P0D (10:)

ADON0

Options:
T
e
2
1. ®
2C
2. %
i — 2
3.+
—E
4. ®

Question Number : 103 Question Id : 4509386983 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The angle of polarisation for a medium with respect to air 1s 60°, The critical angle of this medium

with respect to air 1s

) ASFs8aind G308 C3yRed8 easn 60° 00, TE) (39l Oireds 0B Seasin

Options :



Sin~14/3

1. &

Tan_l\.@
2. ®

Cos 143
3. ®

1

Sin~!—

4, \'@

Question Number : 104 Question Id : 4509386984 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A pomt charge ‘q’ coulomb 1s placed at the centre of a cube of side length ‘L. Then the electric

flux linked with each face of the cube 1

220 T o) 28 N0 50|00 S Dochidrs 8550 ‘g Hoerod Hovadkod. &

0 T8, 25725600 D0 FENIT LS BDTF0

Options :
4a
Co
1. ®
q
i =
2. %



612 €,
kS
q
4. & Eo

Question Number : 105 Question Id : 4509386985 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Three equal electric charges of each charge ‘q" are placed at the vertices of an equilateral triangle
of side of length ‘L. then potential energy of the system is

2828 ANITHF0 ‘g 0 HPD DTS EIFTOD L' 2DB0N 28 dedemeT
[BEHB0 FT0 38 JOTPE. 8 35050 TRE), DBEHE Desd

Options :
1 3q°
4me, L
1.+
1 g°
4me, 3L
2. ®
1 2q°
4me, 3L
3. %



2

4me, L

Question Number : 106 Question Id : 4509386986 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Eight drops of mercury of equal radii and possessing equal charge combine to form a big drop. If
the capacity of each drop 1s ‘C’. then capacity of the big drop 1s
25738) PR delred G0 ) e 5RPE0 (1e) JAME 2P Doheden
£ 2.8 20 DOLVIT DEIFTOW. 288 Do) TE) DS § oDeh ‘¢ HONSB
G DOCHeY TE) N5 § oed

Options:

s8C

16C

Question Number : 107 Question Id : 4509386987 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Five equal resistances each ‘2R’ are connected as shown in figure. A battery of V" volts connected

between A and B. Then current through FC 1s
2,528,8 R QBTN 10 37 5 AB PO D0 PR $OrH. AHBON

B DO © 8 V' O © 28R EDNE FC tP 507 SaF0T DS [HeFT0

L

Options :
L'
1. A
v
B8R
2. ®
v
3.8 -
v
2R
4, %

Question Number : 108 Question Id : 4509386988 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A lamp 1s rated at 240V, 60W. When in use the resistance of the filament of the lamyp 15 20 times

that of cold filament. The resistance of the lamp when not in use is

28 D e 240V, 60W 030D Soch. ION &a)ych & aen) g
00 AT, B GOLID TS5 STy 20 T, wanS oS
B39 & HOI0EN BEY ABC

Options:

54 0
1. %

60 ()

50 Q

48 ()
4.

Question Number : 109 Question Id : 4509386989 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When an electron placed m a uniform magnetic field 1s accelerated from rest through a potential
difference V;. it experiences a force F. If the potential difference is changed to V5. the force

experienced by the electron m same magnetic field is 2F. then the ratio of potential differences
VZ/VI 15

2,8 D508 ©0HRR,08 3 (B0S G0N JOITD & V, POAHS 30 [HAFH0D
DT N0d ¢ e HOTRYD JOFS 2 50 200 F. oF 3 B0
FHJONO B 1, § a0 ) JOIFR 3 0% 200 2F 9o OO

v "B Vg
EAALORANRLE /V1
Options :
2l

1. ®

1:4

4:-1
3. &

1:2

Question Number : 110 Question Id : 4509386990 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A rectangular loop of sides 25 cm and 10 cm carrying a current of 10 A is placed with its longer
side parallel to a long straight conductor 10 cm apart carrying current 25 A. The net force on the
loop 1

25 cm oG0S 10 em 2hzrenm e ARG TTY Se0Ho Hom 10 A Achid
DSN0B. B DE 228 ASToSB0T 10 em TGOS 25 A DS [HaRTO o)

B00)0 AR ForSR) GO, 8 HOON0 D DO 200

Options :

6.25 X 107° N
1. &

55X 107° N

375 x 10N

8.75 x 10711 N

Question Number : 111 Question Id : 4509386991 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the vertical component of the earth’s magnetic field 1s 0.45 G at a location, and angle of dip 1s

60°. then magnetic field of earth n that location 1s
2,8 [FPOB0S @550 60°, AP, 063 (¢ Aens) ©040 045 G HONE &
B0 PR, 083|607

Options :

1. %



0.52 G
2.

0.3G
3. %
4 % 0.7G

Question Number : 112 Question Id : 4509386992 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

X and Y are two circuits having coefficient of mutual inductance 3 mH and resistances 10 Q and
4 Q respectively. To have induced current 60 X 10™* A in circuit Y, the amount of current to be

changed i circuit X in 0.02 sec is

X 008 Y 93 Boch S005re e’seds e Heat0 3 mH SO 33 B cren
SN 10 @ 00 4 Q. T S00H0E 60X 1074 A 906 DS SO0,

0,02 08 O X SO0H0S 1) TOTE ) NS [aTar0?
Options:

1.6 A
1. ®

0.16 A
2.

032 A



Question Number : 113 Question Id : 4509386993 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two figures are shown as Fig. 4 and Fig. B. The time constant of Fig. A 15 7, and time constant of

Fig. B 15 75. Then

00CH HEPE, EI0 4 OO 0 BTP LFGS. 90 A GB0E), FONT080 7,

05D HE0 B Tk SFONT050 15 @O

2H
60 ;
ﬂ'\,f\r"".l.r [ﬂ‘irv‘l' ‘|. L J‘
05F
< ' L 2
1202 2 LD S TOSF
< , 00
Fig.A (380 A) Fig.B (280 B)

Options :

Ta =S and Ty = 5s

1
rﬁzzs&’)}ﬁt’_ﬁwrg — 5§
1.4

i |
Ty = ES and g ZES
1 1
Ta =58 sNBO 15 =g*s



Tp = 4sand g = Bs

Ta = 45 DBC 75 = 5s

3. %
1
Th— §S and g = 10s
1
Ta =3 DBA g = 10s
4. ®

Question Number : 114 Question Id : 4509386994 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following produces electromagnetic waves

& 1806 ¢3S D DENTTONRTL 08 B0 Eeh 1 Tarow

—

Options :

Stationary charges

DT VRS GOT 333N

1. ®
Charges 1n uniform motion

, . 2368 BSOS SOT es37°eN
Accelerating charges

- €8 ¢ 5600 O D) & esTF°en



Stationary magnet

DTV &) AR 0550

Question Number : 115 Question Id : 4509386995 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Ablue lamyp emits light of mean wavelength 4500A. The lamp is rated at 150 W and 8% efficiency.

Then the number of photons are emitted by the lamp per second

Q080 B0 45004 o> STrB SBoiEG30 o SoB SM0H. & o
B5e300 150 W B0 ¢35 ¢ 8% 00 2.8 &N 5006 & B0 56 IeNST
FEFQ © D0YS

Options :

2717 % 1078
1.+

17.17 x 10*®

27 17 % 1043

54 x 1016

4. %

Question Number : 116 Question Id : 4509386996 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The ground state energy of hydrogen atom 1s —13.6 eV. The potential energy of the electron in this

state 18
BB HESFEN)S Sraron 3§ —13.6 ¢V oNB & TS JOIFS B0}
D32 38 Dene)

Options :

—13.6eV

13.6 eV

Question Number : 117 Question Id : 4509386997 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the energy released per fission of a 29325 U nucleus 1s 200 MeV. the energy released in the fission
of 0.1 kg of 29325 U in kilowatt - hour is.
235 # & e e 48 L
25 5 U 016350 D)8 & DD BINE 55 DN 200 MeV. 0.1kg © a3 Y
DS ToAK, ABES TS 45 Dens &5 8 955 &
Options:

22.8 x 10°
1.¢



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In a common emitter amplifier. a.c. current gain is 40 and mput resistance 15 2 kQ. The load

resistance 15 given as 10 kQ. Then the voltage gain 1s

CE D508 (ErR)00 SPE0mr 9 TR, a ¢ (DT Dens 40. 208
DBGE0 e 10k B0 A DTG0 Dens) 2k eanSayd, 580 4,88 530
D)

Options :

Lh
-3

200

Question Number : 120 Question Id : 4509387000 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

An information signal of frequency 10 kHz 1s modulated with a carrier wave of frequency

3.61 MHz. The upper side and lower side frequencies are;

10 kHz 2732 5)ed5a0 SO 0T h0mra)) Gd3rRow) 3.61 MHz 2red )ad§eld ffe)
538 S0 STCRBA DDA, iDed DO EHed 2R 5 BNz e)edfeid

d

) eI



Options:

3650 kHz and 3590 kHz

1. %

3620 kHz and 3600 kHz
2.4

3610 kHz and 3580 kHz
3. ®

3600 kHz and 3620 kHz
4, %
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Question Number : 121 Question Id : 4509387001 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The energy of third orbit of Li*" ion (in J) is

LiZ* @900 Q) Surcss 885 48 0 o)

Options:

—2.18 x 10718
1.«

—6.54 x 10718
2. &

=i e
3. %

L2 8 1028
4, &

Question Number : 122 Question Id : 4509387002 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The number of d electrons in Fe is equal to which of the following?

1.  Total number of ‘s’ electrons of Mg

ii.  Total number of ‘p” electrons of Cl

1.  Total number of ‘p’ electrons of Ne

The correct option 1s
Fe S d dOIFR © 0S5 1806 F€38 D5rdddn?
i Mg S INB0 ‘s* IOTS © dows
i, ClSSQ BB P’ DOITS @ dowg
iii. NeeTQ BB p IOITS © dows
D8 2ADDE0

Options :



1. 11 only

i, il oS53
1. % )
i1. 111 only
ii. iii o3 eh e
2. ® =
i. 111 only
i, 1ii 03075
i, ii. i
4, ®

Question Number : 123 Question Id : 4509387003 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The correct order of atomic radii of given elements 1s

Q0 §2ICEA) LTS DB FPET T DO (B0

Options:
B <Be < Mg

1.

Mg<Be<B

Be < B < Mg



Question Number : 124 Question Id : 4509387004 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Which of the following orders are correct regarding their covalent character?
1. KF<KI
. LiF<KF
i, SnCl = SnCly
1iv.  NaCl<Cu(Cl
The correct option 1s
1800 1E570S 5763 DTS ©F L0 (D530 HOTND R)?
1. KF<KI
1. LiF <KF
i,  SnCl < SnCly
iv.  NaCl=CuCl
Q8D W80
Options:
1. 11, 111 only

i, 1i. iii o30% €533

1. ®

iL. 111, 1v only

i, iii. iv o307 €53

1, 111, 1v only

i, iii. iv o3| €5 o)

\:;)



1. 1. 1v only

i, i1 iv o377 €55
4, ® i

Question Number : 125 Question Id : 4509387005 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Observe the following sets

Order Property
1. NH3 > H0 > 802 Bond angle
11, H>0 > NH3 = H;S Dipole moment
11l Naz=O>Hy Bond enthalpy
iv. |NO">02>0%" Bond order
Which of the above sets are correctly matched?
1800 SO HOIOO0R
80 (00
1. NH; = H)0 = SO, 2003 §%620
ii. | H0>NH3>H;8 B 31600 [2Pa050
. (Ne=O=Hp 208 o)org*é) 3
iv. |NO">0y>03" 2208 |5a200

2) o) aDEREN BT 36 (rdeda?

Options :

1. i1, 1v only

=g

i. ii. iv 63075 o0

1. ®




i1. 11 only

ii. il o337 B30

1L, 111, 1v only

i, i, iv o377 €50
3.4

1, 111, 1v only

i, 1ii, iv 2375330
4, ®

Question Number : 126 Question Id : 4509387006 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The RMS velocity (ums) of one mole of an ideal gas was measured at different temperatures and

the following graph is obtained. What is the slope (m) of straight line?

(x-axis=T(K): y-axis = (ums); M = molar mass; R = gas constant)

NG GO 5O 2.8 IO 3o RMS IR, (ums) FOTH HO0M

508 (5 ©D0D0D. AEYTD areN (m) HOS? (x-axis = T(K): y-axis = (umg)s M =

37670 |(5:350°3; R = 3O QTP08)

}f

A

m

v
Ead

Options:
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®
My /2
&
2. %
M
3R
3. &%
3R
4, « M

Question Number : 127 Question Id : 4509387007 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two statements are given below

Statement I:. Viscosity of liquid decreases with increase in temperature

Statement II: The units of viscosity coefficient are Pascal sec

The correct answer 1s
1508 BOh 755N Red §ITFON
58-I |G565a) ) Ned, eeslied DDOAN T b Hetrod
50811 ) TP HEITRS [DeITETEN aFPIFO VED
BB SETTTSSD

Options :

1.+



Both statement-I and statement-II are correct

& §D 5T sNBA a3 L §-IT BOCEHT DB

Both statement-I and statement-II are not corract

S S ST 0B 7§ E-IT BOCT® DEQDD) 5o

2. &
Statement-I 1s correct but statement-I1 is not correct
S5-I QOTDAE 520 T FW§-IT DO 5°CH
3. ®
Statement-I 1s not correct but statement-II is correct
55T QBQDAE 59D 520 3§ ST DB ADIE
4, &%

Question Number : 128 Question Id : 4509387008 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

0.1 mole of potassium permanganate was heated at 300 °C, What 1s the weight (in g) of the residue?

(Mn=55u;K=39u:0=16u)

300 °C 6 0.1 IO © FEFNOHO DTROMRE D A TP, @oFael (residue)

2280 (g ©F ) 0eh?
Mn=55u:K=39u0:0=16v)

Options :

142
1.4

1.6



15.8

Question Number : 129 Question Id : 4509387009 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the correct statements from the following
I. A,G1s zero for A = B reaction
I The entropy of pure crystalline solids approaches zero as the temperature approaches

absolute zero

III. AU of a reaction can be determined using bomb calorimeter

806 B3¢ 20T arzed HBotod
I  A=Bu0 4.6
L 05 s Al H0TEE HE 1638 009 HTTO Jo(ED Ve
98 DENSD HDNO
M 28305 B8 AU & 2208 356 Dedendriod g0t ia

Options :
L. IT only
I, I 30| €5 o0
1. %
1. IIT only

I, III o537 €550



I, IIT only

;. x LTI 30765500

L II. III

\.}-;2

Question Number : 130 Question Id : 4509387010 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Observe the following reactions

AB(g) + 25 H,0(I) = AB(358,0); AH = x k] mol™"

AB(g) + 50 H,0() = AB(son,0); AH = y k] mol™*

The enthalpy of dilution (AHg;)in k] mol™tis

1BO& B85 HBFDOTHAW

AB(g) + 25 H,0(1) = AB(35h,0); AH = x k] mol™*

AB(g) + 50 H,0(l) — AB(som,0); AH = y k] mol™*

DN QOEE‘*C{D;. (AHg,) kf mol ™t & &

Options:
(y —x)
1.+
I
, x HEL)
2,
N



|

Question Number : 131 Question Id : 4509387011 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
K. for the reaction.

T(K
Afy) =

B,(g)

15 39.0. In a closed one litre flask, one mole of As(g) was heated to T(K). What are the
concentrations of Ax(g) and Ba(g) (in mol L) respectively at equilibrium?

T(K)

Ayg)

By(g)

50550 Ke D003 39,0, 2.8 O8O S0 FIBS, 208 IO Ayfg) A TK) H6% 6

TP, SE R S6, Axfz) BN Bafg) & TN (mol L1 ) SN J0e?
Options:

0.025,0.975
1.+

0.975; 0.025

2. ®
-q
3 s 0.05, 0.9:
0.02, 0.98

4. ®

Question Number : 132 Question Id : 4509387012 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
At T(K). the solubility product of AX is 10™*%. What is the molar solubility of AX in 0.1 M HX
solution?
T(K) 56, AX [SeI0hE ©2)0 107, 0.1 MHX 7560 S AX 3rerd
TPSE305Eh Doeh?

Options:

197"
1. ®

Question Number : 133 Question Id : 4509387013 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The equation that represents ‘coal gasification” 1s
§°S MPRIVTAR & AIFDOT DaDEGE0

Options :

Co(e + H,0@ —3BK o co. (o) +
T catalyst 2 &) + H(2)

C(s) + H,0 (g 208 o o + H(®

2.



1273 K

2C(s) + Oy(2) + 4N, (g) = 2C0(g) + 4N, (2)
3. &
1270 K
CH, (g) + H,O(g) > (CO(g) + 3H,(g)
Ni
4, &

Question Number : 134 Question Id : 4509387014 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
As per standard reduction potential values. which is the strongest reducing agent among the given

elements?

DT §ohiden SRS N0 (500, BI5AES Srosed wdsod
203 80088 EL0 A7

Options :

1.v Rb

Question Number : 135 Question Id : 4509387015 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
A Lewis acid “X" reacts with LiAIHg in ether medium to give a highly toxie gas, °Y". Y’ when
heated with NH; gives a compound known as morganic benzene. °Y" burns i oxygen and gives
HyOand ‘2. 7" 1s
X @) 2.8 OFar 800 S0 AirSEoS LAl & B85 S0 &8 Jros
TOWG Y AN, Y O NIz & IATAS)D, 30T Bodd @
SRR, ¥ FOS 2506 H0 H8AM Z' © D). Z' &

Options:

Basic oxide

- 5°8 3885
Acidic oxide
&30 3535
2. ]
Amphoteric acid
L, Q305 eEab
. ®
Neutral oxide
g es
L x OO ERNG

Question Number : 136 Question Id : 4509387016 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The method for preparation of water gas is

Lr i

D TR OIS HGes

Options :



Burning coke in excess of air

68 o A% S H0A0HEO

Oxidation of C in limited supply of oxygen

DO €38 3238 HBHTS' € es8y58e0

Passing steam over hot coke

S5 5% s DeZ @B Hodhdo

Passing air over hot coke

SE& 58 s mrd Hoddo

Question Number : 137 Question Id : 4509387017 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The BOD values for pure water and highly polluted water are respectively

HE D3 SO0 11851 TS 57T (0T A3 BOD DN ST

Options:

g .
1w ppm. =17 ppm

5w =>5ppm. =17 ppm

<5 ppm. =17 ppm
3.4



<Sppm. =17 ppm

Question Number : 138 Question Id : 4509387018 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A mixture of ethyl 1odide and n-propyl 1odide 1s subjected to Wurtz reaction. The hydrocarbon

which will not be formed is
536 o3, 16 aTBE © DI &5 S8k SHH BSHD
DO BN

Options:
Butane

1 22075 IR
Propane
SIS

2.
Pentane
— =

- DOTID
Hexane
FOCATS

4, %

Question Number : 139 Question Id : 4509387019 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following alkenes does not undergo anti Markownikov addition of HBr?

806 838 S 6 HBr & QP03 SrF) 55 08080 Focih?

Options :
Propene
15F S

1.%
1-Butene

1-207°5e3S

2. ®

2-Butene

2- 257563
3.

3-Methyl-2-Pentene
L 3-03S-2-2083S

Question Number : 140 Question Id : 4509387020 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What are the variables in the graph of powder diffraction pattern of a crystalline sohd?

57638 DSHTT DadBeS ST [T ¢S & HO°0FeN (variables) D)?
Options:

x-axis = 26. y-axis = intensity

x-2980=20; y- %0 =236
1. ¢



X-axis = mtensity; y-axis =26

x-@8 0= gﬁL;‘f)éﬁ: }'-@SAD =26
2. &

x-axis = @ v-axis = mtensity

x-080=0; y-e50=edS¢h
3. %

X-axis = intensity; y-axis =08

x-05 0= @Lc‘é.e‘_%; y-2950=4

Question Number : 141 Question Id : 4509387021 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

100 mL of % Ca (NOs} and 200 mL of % KNOs solutions are mixed. What 1s the normality of
resulted solution with respect to NO; ?
100 mL % Ca (NOsp, 200 mL % KNO3 |0 500 28BS (360
0083 NO7 GO 2)0eh?

Options:

0.1N
1. ®



0.066 N

4. ®

Question Number : 142 Question Id : 4509387022 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A solution was prepared by dissolving 0.1 mole of a non-volatile solute in 0.9 moles of water. What

15 the relative lowering of vapour pressure of solution?

0.1 FO© 2.8 @230 (@S0 09 IO © ABS 80D 28 ([THT)
SOPOTBD. (T P 0E, 2781) 2k Qe & 0eh?

Options :

0.05

Question Number : 143 Question Id : 4509387023 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The standard free energy change ( A G°) for the following reaction (in kJ) at 25°C 13
3Ca(s) + 2 Au’'(aq. IM) — 3Ca*(aq. IM) + 24u(s)

(given:Ey 2+, = +150 V,E 22 o, = =287V, 1F=96500 C mol )

2500 35¢3 1806 855 (D57 5T #§ S5 (AG°) (kT ©)

3Ca(s) + 2 Au*(aq. IM) — 3Ca”(aq. IM) + 2Au(s)

ETARINIAY E;u3+fﬂu =+1.50 V,Egag:,ma =-2.87V, 1F=96500 C mol™%)

Options :

—2.53 % 10°
1.«

+2.53 x 103
kS

> 4
4 % 253 % 110

Question Number : 144 Question Id : 4509387024 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The rate constant of a first order reaction is 3.46 x10% s™ at 298K, What is the rate constant of

the reaction at 350 K if its activation energy is 50.1 kT mol™*? (R=8.314 T K™ mol ™)

(log 2=0.3010)

298 K o969 2,8 05030 BaSm08 383580 e Ur080 3.46 X107 71, 333 G308) &Be3ed

$8 50.1 kT mol™ @0on) 350K 4 1585 Den QU050 H0ed? (R=8.314 T K 'mol ™)

(log2=0.3010)

Options :



0.592 s 1

%

0692571
2.

0.792 571
3. %

0.892 571
4, &

Question Number : 145 Question Id : 4509387025 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The correct statement regarding chemisorption is
SO @HI N0 B0 HODOHOD OB & §3

Options :

It 1s a multilayered adsorption

A 2,8 HVTS WHT A0

The process is reversible in nature

2 1 D18AD B 38es D 527N0S GOLVOE

The process is not specific in nature

& [DEODH B 52750 S DBRed ESIDETICD



Enthalpy of adsorption is in the range of 80-240 kJ mol ™!

@OFTAD0 JOTFO) ) @S 80-240 kI mol ™!
4.

Question Number : 146 Question Id : 4509387026 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following 1s incorrectly matched?
: 5 ¢
1808 T3S AA SO 2365 DAV CD?

Options :

Multi molecular colloid — Sg

23570 98068 §CPo - Sg

1. =
Macro molecular colloid - enzyme
, 29X €9£D §PONEG — OB
As283 sol — positively charged sol
3 @ As:53 @’“"L‘f’_‘:} — C}}@ 3%@3 @‘L‘Eﬁ

Starch sol — Iyophilic sol

0y O —oTBrdE O
4. %

Question Number : 147 Question Id : 4509387027 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



_ 0 o _
Impure silver ore + CN + H,O —= » [X] +OH
[X] + Zn =— [YP™ + Ag (pure)
The co-ordination numbers of the metals in [X]. [Y] are respectively
©0090 vo B ordd + CN + H,0 L [X] +OH

[X] +Zn — YT +Ag (93)

[X]. [Y] ©S S 650 85608800 Somsen S

Options :
3 4
1. %
> % 1 4
4 2
3. %
2 4
4.«

Question Number : 148 Question Id : 4509387028 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:O0

In the reaction of sulphur with concentrated sulphuric acid. the oxidised product 1s X and reduced

product1s Y. X and Y are respectively

3036, T Her)s05 eDoe Ny DS, ©8)88n &B)810 X HBo

§ 00588 &I 0 Y. X, Y 0 ST

Options :

1. %



S03. SO2

SO, SO
2.

SOa. HoS
3. &

SOz HO
4, %

Question Number : 149 Question Id : 4509387029 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following lanthanoids have [Xe] 4f* 5d' 65 configuration in their ground state?
(x=1-14)
Srosd 506 erodBh O 9 [Xe] 475d 652 5o 8 Soch?
(x=1-14)

Options:

Pr. Tbh. Yb

Ce.YDb. Lu

Ce. Gd. Lu
3.



Gd. Tb. Lu

Question Number : 150 Question Id : 4509387030 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

How many of the following ligands are stronger than H>O?

S¢7,Br~,C,0%7,CN~,en,NH;,CO,0H"

80O Brod &S Hi0 0T 20D D) ?

S2- Br—,C,03",CN, en, NH;, CO, OH™

Options :
1.8 3
3
2. %
4
3.¢
4.% ©

Question Number : 151 Question Id : 4509387031 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The comimon monomer for both Terylene and glyptal is

B8DS 6050 DarS BodeS o8B IrSnd

Options :

1.



\Jj

Hm/\/\DH
2. ®

HD\/\

CeHs
3. &
/\/NHE

4 % H-N

Question Number : 152 Question Id : 4509387032 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following structure of proteins represents its constitution?

1808 ) 18¢3& © 02690 TR HOMETR) AFDR0H?
Options :

Secondary structure

808 Do 0

1. %

Qua fernary structure

525623 8 Doreo
2. %



Primary structure

12008 om0
3. ¢

Tertiary structure

BBAHO dorso

Question Number : 153 Question Id : 4509387033 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Carrot and curd are sources for the vitamins respectively

55D 0BG VEMD 2 DEIMIZD SBATT e5eb 1 3 en?

Options :

A. B2
1.

A, Bi
2. &8

E. Pyridoxine
E, 208830

3. ®
E. Riboflavin
E. BSTDQ
4, %

Question Number : 154 Question Id : 4509387034 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

List-I (Diug) List-II (Use)
A, | Veronal I. | Antihistamine
B. | Morphine II. | Hypnotic
C. | Seldane [II. | Analgesic
IV. | Antidepressant

Correct answer 1s

1808 3R 2N

Y- (HOD) OQ-II (&HAT0)
A | 38> L | 05083orains
B. | 3r8)0 IL | ey ¢35
C. [0 T I | Jor® 228

IV. | OSroe3&R0E

A-IV, B-TII, C-1

A-1IV, B-L. C-II

A-II. B-III. C-I

A-II. B-IV. C-III



Question Number : 155 Question Id : 4509387035 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The major products X and Y respectively from the following reactions are

NaOEt Br (i)Mg/dry ether
Y «— - -
(major) (i1)H,O

1808 T30S BT [T Ered 1771 00 X DO Y ) S

NaOEt Br ()Mg/ g 56
Y -——— = X
(DTS) (11)H,0O
Options :
OC;H;

AN N

2. %

/\/OH /\
3.8 ‘

/\/OH \/\ OC,Hs
4, ® L

Question Number : 156 Question Id : 4509387036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An 1somer of CsHi on reaction with Bry / light gave only one isomer CsHyiBr (X), Reaction of X
with AgNO; gave Y as major product. What 15 Y?
CsHi QR0 28 ArC3y9550 By / 508 9856 CsHyBr (X) &3 28 28 rdyad)

3000, AN & X 859 B85S’ Y D5 G5 39) 0 8)B0O. ¥ 67

Options:

(

),N
ONO

ONO
4\/ s

1. ®

2. ®

S

3. %
4.
Question Number : 157 Question Id : 4509387037 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What are the major products X and Y respectively in the following reactions?
1808 DESOS DTS Eeh 1°1 00 X OO Y e S Da)?
(CH;3)3CONa + CH3CH:Br — X
(CH3)3CBr + CH3CH)ONa — Y

Options :

CH>=CH». (CH3)»:COCH>CHz3

1. %
(CH3)3COCH2CH3. (CH3)3COCH2CHs3
2. ®
EH—CH3, (CH3)2C =CH2
3. %
(CH3)3COCH2CH3. (CH3)pC=CH;
4. &

Question Number : 158 Question Id : 4509387038 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following reagents with the products obtained when they reacted with a ketone,

List-I List-1I

A | CéHsNENH: | L | Schiff base

B. | NH,0H II. | Hydrazone

C. | C¢HsNH; I | Oxime

IV. | Phenyl hydrazone

Correct answer 1s

808 S8, 9 850 O 19853 20SNCH HO)B G IO 28IGH08

ORI ORI

A |CHNHNHy | I | 95 2%

B.|NHOH | IL | 3Hc8®

C.|CeHsNH2 | IIL | €33 ye0

IV. | D36 B8

DO B2

Options:

A-IV, B-III. C-1
1.+

A-TV. B-II, C-I
2. %

A-IL B-III. C-IV
3. %

A-II, B-IV. C-III
4. ®

Question Number : 159 Question Id : 4509387039 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

What are X and Y respectively in the following reactions?

B0 HBEOES X 08050 Y €0 S 2?

COOH
@/ X CHO ¢ coeh, _
— = (Major product)
OH. 293K Y

(27 3¢9 3703 0)

Options :

(1) SOCl, (1) HINi ; @C—CH:C

I |
®) CHa

(i) SOCL,. (i) Ha/Ni: QCHZCH_C
|
®)

2. ®
(1) C;H;OHH", (1) DiBAL -H (in) H,0; QCH:CH—C
I
O
3.+
(1) C;H;OHH", (1) DiBAL -H (u1) H,0; QC—CH:C
|| |
O CHs
4, %

Question Number : 160 Question Id : 4509387040 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Arrange the following i decreasing order of their basicity
806 T3 83 $°e520 7] 1590 ¢ @a8)08
NH,

HyC
H,CO

Options:



